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w14 oftde : =1fe erdormer & g

Section ‘A’
Objective Questions

A.1 lower Order Questions
S7I<h g8 g =6 ®mEi &t qfd &< (Fill in the blanks with
appropriate terms) :

1.7eq 790 & 9@ T°F & A .. 2l(Unit-- 1)
The name of the book written by Adam Smith is ... ... ... ... .. | (Unit - 1)
pX Y1 E= 2 T I 20 D 1 R 1 1 221 2l( (Unit-- 1)
The two methods of studying Economics are ... ... ... and ... ... .... | (Unit - 1)
3.37derrer A T graw Gt o T =] (Unit-- 1)

Economics has been defined as the science of scarce means, by.. ... ... ..
(name the economist). (Unit - 1)

AL 1 1~ L PP
% ®7 § dgl grd gl(Unit-- 5)
Indifference curve does not match with the....... shape. (Unit - 5)
T Teq ¥ 3% ﬁﬁl‘QI(Answer in a One Word.)
53¢ % &l q&¥ A189 g—(Unit-- 9)
Name the two main factors of production - (Unit - 9)
6.7 e fHeior & a1 ger HErwa - (Unit-- 17)
Two major theories of the determination of Rent - (Unit - 17)

7.9 F oWH Mg F @@ - (Unit-- 19)
The book “Rent theory of Profit” written by - (Unit - 19)

8. FTUETal FFATH F Hgrea &7 Tfaures fFaa fFar-(Unit-- 20)
Who propounded the theory of Welfare economics?- (Unit - 20)

SNASREETD
ANSWER SHEET OF LOWER ORDER QUESTIONS
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(Serial No. of (Answer of the
the Questions) Questions)
1. “An Enquiry in to the nature and Causes of

wealth of notions”

2. (Deductive Method, Inductive Metod)
3. EIRUE R

4. Tara< (Cancave)

S. Labour&Capital

6. Recardian&Modern Theory

7. T.ATHT

8. st

A.2 Middle Order Questions

El@ﬁ'cb_vﬁ'&' 71 (Multiple choice questions.)
1.TEEqAT a Y@T & T =90dl 8

. HIEQ AT . F39d gU HAG I
q .8 Iaeam™_ #iT Fedt ge &7

T.9q® & A= ==

The slope of the indifference curve indicates

a.The price ratio

b.Changing price ratio

c. Different level of satisfaction

d. The diminishing marginal rate of substitution.

2.0F THMARRT Tad Jgi IcaTad FLAT JHa HT STal
H.H0T AT AT TR T FH Bl
F.HOT AT M THE F & gl
T.AN AT A= THhie F AaF gl
T.HAT A A= T Bl
A monopolist will always select to produce where
a.Elasticity of demand is less than 1
b.Elasticity of demand is equal to 1

c. Elasticity of demand is greater than 1
d.Elasticity of demand is zero
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3.f0ET "Tad gy Ao stE Nt sfgeRaqw grm Afe zEenr qfd ae
%_

H.CF T.4F X TF & HLA F.TF & qaL 3. A
The economic rent earned by any factor will be highest if its elasticity of

Suppy is -
a. zero. b. between zero and one c. equal to one d. infinite

4.tmas Mefefaa w1 @Afoe Saeer 8-
¥. THMIFHT 9. THRIOFRTAEF Taaear . guefia uwitasr
R ER A B EE

Dumping is a particular case of following:
a.Monopoly b. Monopolistic competition c.Bilateral Monopoly
d. Discriminating Monopoly

SASREED

ANSWER SHEET OF LOWER ORDER QUESTIONS

(Serial No. of (Answer of the

the Questions) Questions)

1- HITd AqITa (The price ratio)

2- HOT AT A AT HOATAE L
Elasticity of demand is greater than 1

3- LT (zero)

4- IEEEISEREIIEENEY (Discriminating
Monopoly)

A.3 Higher Order Questions

ggfasedt@ w1 (Multiple choice questions.)

1- 3qu g ar ® ¥ 9% JC | I A Far g-
F. AYY AT F HILO
. @ R F R
. wiaeadt awgei & HR

T. I g1
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In imperfect competition, demand curve slopes down left to right because of-
a. Imperfect knowledge
b. Government regulation
¢. Substitute products
d. All the above

2-FEferfaa aToiTe Qe U &I S
1. THIEHR

2. U AR
SYIH ® ¥ Fedl AWl & Siavid e SToTE q9T W ORH OFT oAqAd
g § ?

F. FaA 1

T. *Hae 1

q.. S9EF 1 3T 20

T. T A 1T 2

Consider the following market forms
1. Monopoly
2. Perfect competition
In which of the above, equilibrium of a firm is possible under decreasing
costs?
a. under (1) above
b. under (2) above
¢. under both (1) and (2) above
d. neitherunder (1) nor (2) above

3. % 9im & oSt At § ¥ R dT UH, THRAGF a0 §
ramefier gt 82

F. HWIT HT AET A== 0

T. AWOT FT ST A== 1

. gEr &t et @ <1

. AT FT o A= >

Which one of the following cross elasticities of demand is operative in

monopoly market:
a. cross Ed=0
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b. cross Ed=1
c. cross Ed<1
d. cross Ed>1

SAESRE LD

ANSWER SHEET OF LOWER ORDER QUESTIONS

(Serial No. of (Answer of the

the Questions) Questions)

L. a. AU T F FIXT (Imperfect
knowledge )

2. q. Fad 1 (THITIHRR)

3. a.under (1) above( Monopoly)

3. HqOT #T =T A== 0

a.cross Ed=0

B. g I 9°T (Short Answer Type)
B.1. LOWER ORDER QUESTIONS

1. =AY q97 9T TS T TRATNT Fiforg|
Define micro and macro economics.
Answer : Refer to Unit-01 (3% & fow T=s 9&=4T 09 W)
oSt T ger eran sare
Describe the main features of capital.
Answer : Refer to Unit-01ETX & 6w =2 §&11 0 W)
1. g gfqanft s & Ewars aas|
Describe the features of Perfect Competition market.
Answer : Refer to Unit-12EWX & T s &am {3 @)
2. A ITAMNQT T HHAFG ITARGAT § T Jead 82
What do you mean by total utility and marginal utility?
Answer : Refer to Unit-03ETX & fow &2 9&41 03 W)
3.  Se™Ear aw fFguer f qrarn sqrey|
Describe the assumption of Indifference curve analysis.
Answer : Refer to Unit-05GETX & fRIT & &1 o4 @)
4, g7 awa qur gREaaie ana &7 aqrey|
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Describe the Fixed Costs and Variable Costs.
Answer : Refer to Unit-11 3<% ¥ fRw s d@&ar 99 W)
5. Rl &1 o rgra aaey
Describe the Ricardo's rent theory.
Answer : Refer to Unit-17EwX & T & &am {9 @)
6. [o%T AWl FT FAT A5A 82
What is the importance of sale costs?
Answer : Refer to Unit-14 (39X & T & g&am ¥ @)
B.2 Middle Order Questions
9. o9 TAT YSIt § FT A=< g ?
What is the difference between wealth and capital?
Answer : Refer to Unit-01 39X & @ & &1 o W)
10899 % 9% U4 g9d U IF=a< T¥ i
Distinguish between accumulation of wealth and savings ?
Answer : Refer to Unit-02ETX & T e @&m o @)
11. /T T o= FT Agd qHATHI
Explain the importance of elasticity of demand.
Answer : Refer to Unit-08 (<< F g s d=ar o¢ W)
12.390IRET Ua |@qf® § F47 < g ?
What is the difference between utility and satisfaction?
Answer : Refer to Unit-04GE<X & T e @&m oY 3@)
13. 9919 F Jidwd &7 I UF Jrad Fard|
Descrive the assumption and meaning of Returns to Scale.
Answer : Refer to Unit-10GTX & fow =2 9&a1 0 W)
14, o7 9fqaiar o @ Taaiar § seae aarsd|
Discriminate between perfect competition and pure competition.
Answer : Refer to Unit-12 ST% & form T=s 9=4m R @)
B.3 Higher Order Questions
15. 3T THTE UF JIAeATa" 979 § FAT J=aC g ?
The difference in income effect and substitution effect is.
Answer : Refer to Unit-06(3TX & T e @&am o% @)
18. UREqAe oqqTd & HI9 #if ATarg Farsu?

Describe the assumption of the Law of variable proportions.




DDU Lucknow

Answer : Refer to Unit-09GE<< F forw &g §&am o) @)
19. gEAM T & Sawa @t fGe=Eer i
Discuss the diminishing returns to scale.
Answer : Refer to Unit-10GETX & T e @&am o @)
20. ACTHRTAT FA ANTT aF | Si|d aRd (AC) TE HHT=q A0Tq
(MC) &t =xeafxr &1 varf== & ggraar ¥ ATyl
Explain MC and AC with the help of short term Total Cost Curve.
Clarify it with proper diagram.
Answer : Refer to Unit-11 3<% ¥ fow =15 @&ar ¢ W)
21. quf YfafRar & wH F grer At gem & Jared|
Describe the conditions of equilibrium of a firm in perfect competition.
Answer : Refer to Unit-12 39X & T & &1 R @)
22. HTHTSME FHEATT FeAT i ATITOT H THATH|
Explain the concept of Social Welfare Function.
Answer : Refer to Unit-20ETX & 9T s €41 30 W)
23. THITAFRIT & Feaiid HGl & (Hei0r &7 A= F0A o]

lllustrate with the help of clear diagram of wage determination under
monopoly.
Answer : Refer to Unit-16 (33< ¥ g s d@&ar (€ W)
24, ATATH ST 1 AFLATLOT il FHATSA
Explain the concept of quasi rent.
Answer : Refer to Unit-17 (9% & U@ s ¥&4m 0 @)
gue (H) «™ I TH
B.1. LOWER ORDER QUESTIONS
1.8 qAT gAY AGqTE H Aq¢ TIY FId gU Al qIRETH
fAvizar &1 gH=TE

Explain the difference between micro and macro economics and also mention the

interdependence between them.
Answer : Refer to Unit-01 (3xX & fo@ o715 d&dr of W)
2.39Aar FguT & uHTETEE giEET A AT S Yol
ENED]

Critically evaluate the cardinal approach to utility analysis.
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Answer : Refer to Unit-04ET F oIT s&E §&41 oY 2@)

3.faaror & Hiura Soarewar g fit =TET fifsm)
Explain the marginal productivity theory of distribution.

Answer : Refer to Unit-15 WX & T & g&am 4 9@)

4 ITTHAAT T TAT T @7 &I TRATYT Hiord TF el dgrFar o
STAHT & Hqad il = gRT AT Sl
Define Indifference Curve and Price line. Explain consumer's equilibrium
with the help of Indifference Curve and Price line.

Answer : Refer to Unit-05GETX & 6@ w2 €& o4 3@)

5.l F FEra i aeEaTes et fiflsm)
Explain the critical Rent theory of Ricardo.

Answer : Refer to Unit-17 (39X & T & &am Q¢ 39@)

B.2 Middle Order Questions

6. TAATH T FHeATT Heell TIRATHT HT SATEAT Hiforgl e[ Temer
H Fegmor dadt IRATIT FT OFAT AT 87

Define welfare economics. What is the importance of welfare oriented

definition in modern economics?

Answer : Refer to Unit-1&20 (39X F &MU THE §&AT o0f&Ro0 IW)

7.<9HA H JA® BH gAdH SfFd AT 9 A FAT g, AT AG HEd

% FUEC gral gl TH AT 0 GHIAT Hitor)

In the long run each firm operates at minimum average cost which equals
to the level of price. Examine this statement.
Answer : Refer to Unit-11 (39X ¥ @ =5 dear 934@)

8. WINT % i TICATHT FTOIUI SETEIAAT a i dgradl | hrd T
Tl FAN U]
Define demand curve. Derive the demand curve with the help of

indifference curve.
Answer : Refer to Unit-08

9. TFTAT AT AWTT aeF T AATATT TATSA? ATFTAIT AT
ARG 99T AW 0T aehl | J9Y9 oY fifNo
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Describe the features of Long-term Average Cost curve ? Clarify the
relationship between Short —term Average cost curve and Marginal Cost
curve.

Answer : Refer to Unit-11EWX & T s &am ¢ @)

10.997 YIAeq@T &f 39T & FH &I THAT Fad Icd1ad 7 [fsa

FAT gl TH FIAT H Fa=dAT Hito

In the case of perfect competition the main problem of a firm is to
determine the production volume. Critically examine the statement.
Answer : Refer to Unit-12 @< & g s&g g&am ¢ W)

11.THITEHRLT Al TRATHT DI THITEHIT 6 Aeaiid qod  TEiem
ERIED]

Define monopoly. Explain the process of price determination under

monopoly.

Answer : Refer to Unit-13EWX & fRiw s &am {3 @)

12./3q0r F HHTeq IATEHRdT Haled 6l AAT=IATcHS ATEAT HiToT|

Critically explain the marginal productivity theory of distribution.

Answer : Refer to Unit-15GET% F T s&E §&ar (4 2@)

13. 9910 il qRATIT FAreU? Hifad ASgal 97 qredieas deigil H ey

oy i
Define wage? Differentiate between monetary and real wage.
Answer : Refer to Unit-16 (33X & T & &1 9% <€)
14,979 &7 IRATIT TF FHR Jad g0 @1 F qgHs Hgwa awAsd|
Define the term profit and its type. Explain the modern theory of profit .
Answer : Refer to Unit-19 35T ¥ fRw s d@&ar 9% @)
B.3 Higher Order Questions
15,96 ottaral srfeqaeqr | HAd Tl [ TH Heald THedrs

T FHATYTT TEIT HAT 52 THATS
How does the Price System solve the central problem of capitalist
economy? Explain it.
Answer : Refer to Unit-01ETR F foIw s&€ €41 0¢ 3W@)

16. 91T il A A T Fd gC @M= & Aty A=t &1 aua fifsm)
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Define the concept of the elasticity of demand. Describe its different types.

Answer : Refer to Unit-08 (3<X & @ T&E &A1 o¢ W)

17. IcqTe ®erd &1 gieamer ua fFomaru fofem swfa-sweom & Scamed
FAT F =ATEAT Fifeo)

Define production function. Write the features of production function. Explain

Cobb - Douglas production function .

Answer : Refer to Unit-09GwX & forw e &1 o IW)

18. 901 sfaaitar wa gl yiaafiar amse feafaat & @ &1 [
e e AT STaT 82 WE T g7 T S|

Explain the determination of profit under Perfect competition and Imperfect

competition? lllustrate with proper diagrams.

Answer : Refer to Unit-12&14 (35T ¥ w15 @&am 93&¥ W)

19. :9q FAFdwFTr F Fqua Fima quT Icareq fAgor & sareT fifso)

Explain the process of price and output determination under the condition
of price discrimination.

Answer : Refer to Unit-13ET9X & T & &am ¢33 @)

20 ST F FATHEA (HZd il ATEIT HIOU| AT & aAdl qavaifl

g & A8 AT & & [gr & T Hied|

Explain the classical theory of interest. Describe the Liquidity Preference
theory of interest to determine the rate of interest.
Answer : Refer to Unit-18ETR & foIw s&E §&ar ¢ @)




